690 DUKE R ABS 2014 <2014><AU><F9760N1>
WIRING HARNESS
13401

Abb. dhnlich

Pos Part Number Description Additional Text Quantity
1 76011075100 WIRING HARNESS 1.00
2 000700000BH SPARE CONNECTOR BH 6-PINS DIAGNOSTIC PORT 1.00
3 75011088010 FUSE 10A 07 0.00
4 75011088015 FUSE 15A 07 0.00
5 75011087050 RUBBER CASING FOR FUSE BOX 1.00
7 0081650121 EJOT PT SCREW K50X12 WN5452 1.00
8 0024060206 HH collar screw M6x20 TX30 1.00
9 76011060100 DC HORN 12V 1.00
10 49007439000 CLAMP RSGU 15/12 1.00
11 78105081010 SCREW TORX M5X10 3.00
12 69008021080 clip nut M5 1.00
15 76011057000 BRACKET F. FUSE BOX 1.00
17 69008021080 clip nut M5 2.00
20 44011076200 CABLE TIE 200/3,6MM BLACK 0.00
21 60011093045 RUBBER CABLE TIE 45MM 03 0.00
24 76011025000 ADAPTER CABLE FLASHER UNIT LED 1.00
25 76011030000 FLASHER UNIT LED 6,25W 1.00
26 58211031100 BRACKET FOR FLASHER RELAY 1.00




27 58411096100 DIODE S3H-15 97 1.00
29 76511010000 MAP-SELECT-SWITCH 1.00
30 76511010050 RUBBER HOLDER F. MAP-SEL-SWIT. 1.00
33 76011048000 AMBIENT-AIR TEMP. SENSOR CABLE 1.00




